
Year 3 Worksheet 7 

                      
                      

                      

                      
There are 235 boys and 318 girls at Sketchley Hill. How many children is that 
in total? 

                      

                      

                      
                      

                      
                      

On sports day, Blue team scored 487 points whilst yellow team scored 329 
points. How many points did Blue team beat the yellow team by? 

                      

                      
                      

                      

                      
                      

Mr Payne is saving up for his holiday. He needs £387. So far he has saved 
£292. How much more money does he need? 

                      

                      
                      

                      
                      

                      

Mrs Campbell raised £316 for charity. Mr Cader raised £324. How much did 
they raise in total?  

                      

                      
                      

                      
                      

                      
                      

                      

                      

Read the question carefully. Decide if you need to subtract or add. Use the 

column method to solve the calculation. Check it. Then write the word 

answer. For example: 24 cars. 



 

                      
                      

                      

                      
Thomas makes cakes for the school bake sale. He makes 64 cakes. Every cake 
sells for £3. How much money did Thomas make? 

                      

                      

                      
                      

                      
                      

Alfie makes 58 cakes for the school bake sale. He sells each cake for £4. How 
much money does he make? 

                      

                      
                      

                      

                      
                      

Mrs Gilder has a packet of chocolates. It has 64 chocolates in it. She decides 
to share them equally with Mrs Day, Miss Blain and Mrs Boffey. How many 
chocolates will each of them get? 
                      

                      
                      

                      

                      
                      

72 children go on a school trip. The coach is broken so they have to go in 
cars. Each car can hold 4 children. How many cars do they need? 

                      

                      
                      

                      
                      

                      

                      
                      

                      

Read the question carefully. Decide if you need to multiply or divide. Use 

the method you’ve been taught to solve the calculation. Check it. Then 

write the word answer. For example: 24 cars. 


